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Operation ALUControl[2:0]

NOP(No Operation) 3’b000
ADD 3°b001

SUB 3°b010

MULT 3’b011

SLT 3’b100

AND 3’b101

OR 3’b110

XOR 3’bl11
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A=32"b0110_0011 1000 0100 1001 0011 1101 _1000
B =32"b1000_0100 1100 0110 _1100 _1001_1001_0001
ALUControl = 3’b000
ST

Y =32’b0000 0000 0000 0000 0000 0000 0000 0000
2=0,0=0,C=0,N=0,Ready =1
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A=32°bO111 1111 1111 1111 1111 1111 1111 1111
B=32°bO111 1111 1111 1111 1111 1111 1111 1111
ALUControl =3’b001
ST

Y=32°bI111 1111 1111 1111 1111 1111 1111 1110
Z=0,0=1,C=0,N=1, Ready = 1
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A=32’b1111 1111 1111 1111 1111 1111 1111 1111
B=32b1111 1111 1111 1111 1111 1111 1111 1111
ALUControl =3’b001

ST
Y=32’bl111 1111 1111 1111 1111 1111 1111 _1110
Z=0,0=0,C=1,N=1,Ready =1

SUB &llec .Y
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A =32°b0000 0110 0100 0001 0000 1101 0111 _0001(dec =104,926,577)
B =32"b0000 0110 0100 _0001 0111_0011_0000_0001(dec = 104,952,577)
ALUControl =3’b010
ST

Y=32b1111 1111 1111 1111 1001 1010 0111 _0000(dec = - 26,000)
Z=0,0=0,C=0,N=1, Ready = 1
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A =32’b0000_0000 0000 0000 1111 1111 1111 1111(dec = 65,535)
B =32°b0000_0000_0000 0000 1111 1111 _1111_1111(dec = 65,535)
ALUControl =3’b011
ST

Y=32'b 1111_1111_1111_1110_0000_0000_0000 0001 (dec = 4,294,836,225)
2=0,0=0,C=0,N=0,Ready =1
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A =32°b0000_0000_0000 0000 1011 1101 _0111_0001(dec =48,497)
B =32°b0000_0000_0000 0000 1100 1101 1101 _1011(dec = 52,699)
ALUControl =3’b100
‘ST
Y =32’b0000_0000_0000 0000 _0000_0000 0000 0001 (dec =1)
Z=0,0=0,C=0,N=0,Ready=1
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A=32’b1010 1001 0110 0110 _1011_1101_0111_0001
B =32"b1001 0101 1100 0110 _1100 1101 1101 1011
ALUControl =3’b101

‘ST
Y =32"b1000_0001 0100 0110 1000 1101 0101 _0001
Z=0,0=0,C=0,N=0,Ready =1
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A=32"b1010 1001 0110 0110 1011 1101 0111 0001
B=32"b1001 0101 1100 0110 1100 1101 1101 1011
ALUControl =3’b110
‘ST
Y =32’b1011 1101 1110 O110 1111 1101 1111 1011
Z=0,0=0,C=0,N=0,Ready=1
XOR oldes A
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A=32°b1010 1001 0110 0110 1011 _1101 0111 0001
B=32°b1001 0101 1100 0110 1100 1101 1101 1011
ALUControl =3°b111

Y =32°b0011 1100 1010 0000 0111 0000 1010 1010
Z=0,0=0,C=0,N=0,Ready =1
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https://www.rapidtables.com/convert/number/binary-to-decimal.html
https://www.rapidtables.com/calc/math/binary-calculator.html
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